log (L*) LABJND lightness log (0,1* gs) log (L*/L* ) normalized LABJND lightness

CIELAB lightness log (L*) log (L*gs/ L*gs5.0)
L L normalized CIELAB lightness
log (L* / L*)
23100 =508 v,=18 iyio
log(L* g5,)=1,70 m,=0,43 '
1
1410 1 -BE”._S.O&.Y. .18. .......
| mm—  1001(L* 52)/(L* g5,91=0, my=0,4 | ——
application , application
' range y range
1
o 0,1 1 10 ,Y,=18100y —1 0,1 10 'Y,=18100y
- -1 0 1 2 logl ~2 -1 0 1 2 log(¥)
log AY CIE tristimulus value difference log(AY/AY,) XIE tristimulus vaIKe difference
10AY, and A\, Y normalized toAY,,
NG HABIND CIELAS AYIAY,  for LABIND and CIELAB
1410 1410
o M= 2 Mu=
¢’ 086 0,86
ok 1Yu=18, dY,=0,83 dY,/Y,=0,045
log(dY)=0,82,m,=0,66 application. Iog[(dY)/(dY )}=0, m,=0,66 application.
m,.=0,85 ' range m,.=0,85 _ , range
L 0,1 10 1Y,=18100y —1 0,1 10 'Y,=18100y
- -1 0 1 2 logl ~2 -1 0 1 2 log(v)
log (AY/Y) CIE Y sensitivity log [(AY/Y) I (AY/Yy)] CIEY sensmvgy
10S, agsnp @NA S cieas normalized to AY,/Y,
S=@vm SISu=OYMIEY/Y) | ABIND & CIELAB
041 1410
— my_=-0,14 —
my-=-0,14 application application
> range range _
101 SN T MMe s s mmmm--- my+=
log(@Y/v)=-1,33,my M= Iog[(dY/YY(dY WYWI=0, my -0,13
Y,=18, dY,=0,83 dY,/Y,=0,045 1 S 013 Y,=18 d¥,=0,83 dY,/Y,=0,045 |
. 0,1 1 10 !v,=18100y o 0,1 1 10 'Y,=18100y
- -1 0 1 2 logl -2 -1 0 1 2 log(v)
log (Y/AY) CIE Y contrast log [(Y/AY) / (Y/AY,)]  CIE Y contrast A
0,1C and C, normalized to Y /AY,
C=(YIAY) LABIND NOIELAB CHlC=(YIBY)/(Y,/AY)LABIND & CIELAB"
1410 1410
L* =50, Y,=18, dY,=0,83 Y,/dY,=21 Mo
1 JogI(YIAYY(Y,/d¥,I=0, m,=0,33 0,”1+3
m,_=0,14 ' application application
u ' range na? ., range
m,_=0,14
o 0,1 1 10 |Y =18100y o 0,1 1 10 'Y,=18100y
B -1 0 1, 2 log| -2 -1 0 1 2 _log(Y)
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